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(A m) (A m) (A m) (%) (%)
FEH (KE—17 [(KEHTEAHFE1TE16%E9 45,900 45, 400 45,3001 -1.1 -0.2
(n—387) | TBEHE1—-16—6]
IFE—19 |FEEWm=AFAEITESZEG6 32,000 31, 800 31,5001 -0.6 -0.9
(X—24) | T=ZHRAE3—8—6
IKRE—22 [KEHNMHERAT1TE19%3 105, 000 105, 000 107, 000 0.0 1.9
(AX—34)
IFRE—23 (FETREREEN2TH4E 95, 000 95, 000 95, 000 0.0 0.0
(Bn—2)
IFEE—30 [KEH/N\VEBAT1TEHSH 104, 000 104, 000 104, 000 0.0 0.0
(B—1)
IFERE—33 [BREHMMARTSTE 7% 14 160, 000 161, 000 163, 000 0.6 1.2
(X—61)
KE—10 |[KEWHEAEFEEE320%F?2 48, 600 48, 000 47,800 -1.2 -0.4
(r—11)
KiE—14 |[KEWHELEATILESTE7E 2454 74,100 74,000 73,800 -0.1 -0.3
(A—5)
Z2RR—2 |ZARMBANEI4TES®E45 1 35,100 35, 000 34,800 -0.3 -0.6
(—15)
ZHRRE—11 [ZAERTENE1TH16%4 76, 300 77, 600 79, 400 1.7 2.3
(x—6)
PE—2 PIEH/NEETE2TEHG6 9% 44,200 44,100 44,000 -0.2 -0.2
(Bn—7)
BHBE—10 [EEEMHRRLEAISTE36%6 67, 600 67,900 68,100 0.4 0.3
(—5)
iE—2 BEHmEEF=/B334%6 54,100 54,200 54,200 0.2 0.0
(x—8)
IR — 2 PFEERIGEEEEEOTE17 1% 53, 200 53, 300 53, 500 0.2 0.4
(n—2)
EH—2 THEEAAEK1TES 4% 40, 500 40, 100 39,900 -1.0 -0.5
(Bn—1)
R2N\—2 TN\BL/\ETESTHFHH476%F4 41,900 41, 600 41,4001 -0.7 -0.5
(Bn—1)
H—1 AR AETIEARR 1 TH 2 8 0 &4 50, 500 50, 300 50,100] -0.4 -0.4
17| (&4—3)
EEM IKE5 -4 |BEBRHEXET1TE13% 717,900 77,700 77,500 -0.3 -0.3
(85—4) | TeatvEL]
IFEES5—10 (KEMUTHEE1TE4SE 197, 000 196, 000 195,000 -0.5 -0.5
(n5—1) | TRASE]
IEES5—19 KERMHHFAISTH 1 755 608, 000 612, 000 615, 000 0.7 0.5
(85—5) | TRIKEEIL]
IXBE5—20 [KEMMEBEITH 1FE245 113, 000 113, 000 113, 000 0.0 0.0
(25—17)
IFRE5—23 [KETMEEA2TEHOE?2 243,000 244,000 249, 000 0.4 2.0
(A5—31)| TL®ARBETSvHA]
XiES5—5 |[(KEMSEEIITH15%5 125, 000 126, 000 126, 000 0.8 0.0
(A5—9)
El5—8 |BEWUmL=ZE51% — 313, 000 325, 000 — 3.8
(85—1) | [BERE]
FES—1 [PEMEFAEFE2TE1 8EN 51, 900 51, 900 51, 800 0.0 -0.2
(N5—4) | [EAUETNRENIE]
BHES—1 [EBERRMESEH2TE 2% 2 80, 200 80, 300 80, 400 0.1 0.1
(A5—1) | [BARBES]
XHES5—1 ([BEBAFOATEHFFFEHEES 2F 144 37,300 36, 800 36,100 -1.3 -1.9
10] (x5—1) I (%) 7—o<>]
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